UIL Accounting State 2005-S

page 3

UIL ACCOUNTING

State 2005-S

Group 1

For questions 1 through 10, indicate the normal balance side of the following accounts using the code:   DR=debit   CR=credit

1. Accumulated Depreciation—Equipment

6. Paid-in Capital in Excess of Par

2. Retained Earnings






7. Interest Receivable

3. Unearned Fees







8. Gain on Plant Assets

4. Allowance for Uncollectible Accounts


9. Dividends--Common

5. Investments







     10. Petty Cash

Group 2

Wile E. Coyote has the following information about Acme kits that sell for $15 each.  During the year Coyote sold 221 units.

	
	
	Number of

Units
	Cost per Unit
	Extended Amount

	Jan 1
	Beginning Inventory
	50
	2.00
	100

	Apr 8
	Purchase
	80
	2.25
	180

	July 14
	Purchase
	40
	2.45
	98

	Aug 8
	Purchase
	20
	2.50
	50

	Nov 2
	Purchase
	36
	2.75
	99

	Dec 4
	Purchase
	95
	2.80
	266

	
	
	321
	
	793


For questions 11 and 12, write the correct amount on your answer sheet.

 11. What is the amount of gross profit for the year if the LIFO method of inventory 


      valuation is used?

 12. What is the amount of gross profit for the year if the FIFO method of inventory 

       valuation is used?

Group 3

SpongeBob’s company was completely destroyed by a flood on April 24, 2005.  The following year-to-date information for 2005 was the only record that could be salvaged:

	Inventory, January 1, 2005
	$       5,610
	
	Sales
	$43,610

	Purchases
	24,065
	
	Sales Returns
	1,610

	Transportation In
	1,240
	
	
	


SpongeBob’s average gross profit percentage was 38% per the records found.  He thinks he had about $6,000 worth of merchandise in inventory.  For question #13, write the correct amount on your answer sheet.

13. What was the estimated value of the April 24, 2005 inventory that was lost based on 


the gross profit method of estimating inventory?

Group 4

Popeye, Heckle, and Jeckle decided to form a partnership.  The partners plan to invest the following assets in the business:

	
	Popeye
	Heckle
	Jeckle

	Cash
	
	112,000
	50,000

	Supplies
	
	46,000
	

	Equipment
	
	226,000
	222,000

	Building
	124,000
	
	

	Land
	20,000
	
	


For questions 14 through 16, write the correct amount on your answer sheet.  Consider each question as an independent situation.

14. If the net income of the partnership is $48,255 and the partnership agreement

      does not state how net income is to be divided, what amount of net income

      should be allocated to Jeckle?

15. The partners Popeye, Heckle, and Jeckle share net income based on the amount 



of time they spend working in the business, which is expressed as 6:3:1



respectively.  If the net income is $80,260, what amount of net income should be 



allocated to Popeye?

16. The partners share net income in the same ratio as the beginning balances of

      their capital accounts.  If the net income is $54,200, what amount of net income

      should be allocated to Heckle?

Group 5

The plant asset record for the Equipment and Store Fixtures account of Batman, Inc. as of 12-31-04 is shown in the chart below.  

	Asset

Description
	Date

Bought
	Original

Cost
	Estimated

Life in Years
	Salvage

Value
	Method

	Store Fixtures
	01-02-95
	110,000
	10
	10,000
	SL

	Computer
	01-02-00
	5,000
	5
	500
	DDB

	Cash Registers
	05-06-02
	26,500
	5
	5,500
	SL

	Laser Printer
	01-01-03
	2,350
	5
	250
	DDB


For question #17, write the correct amount on your answer sheet.

 *17. What amount should be reported on the balance sheet dated 12-31-04 as 

accumulated depreciation?

Group 6

At the end of its fiscal year, before any adjusting entries are recorded, the following information is available:

	Accounts Receivable
	$64,780

	Allowance for Uncollectible Accounts
	$865 credit

	Gross Sales
	$345,750

	Charge sales
	$185,300

	The aging of accounts receivable indicates

uncollectible accounts of
	$2,295


For questions 18 and 19, write the correct amount on your answer sheet.

18. What is the amount of bad debt expense if the aging method is used to estimate


     uncollectible accounts?

19. If the company were to estimate uncollectible accounts based on 2% of charge


     sales, what would be the amount of bad debt expense?

Group 7

For questions 20 through 25, write the correct amount on your answer sheet.  Use the banker’s year of 360 days.  Round to the nearest cent.

Top Cat Co. adjusts its books monthly using the accrual basis of accounting and closes its books at the end of its fiscal year, which is Dec. 31.

Use the following information to solve questions 20 through 22.  On December 15, 2004 the company signed an interest-bearing note payable for $45,000 for 30 days at 5%.

20. What is the face value of the note?

21. What is the maturity value of the note?

*22. What amount of interest expense should be accrued for the year 2004?

Use the following information to solve questions 23 through 25.  On January 18, 2005 Top Cat Co. also borrowed money from the First State Bank by signing a $60,000, 180-day non-interest-bearing note.  The bank discounted the loan at a rate of 9%.

*23. What is the maturity value of the note?

 *24. What amount would be recorded in Discount on Notes Payable on 1-18-05?

25. What is the amount of the proceeds?

Group 8

Road Runner Co. has a fiscal year end of March 31 (which in 2005 was a Thursday).  The company prepares adjusting entries only at year-end.  Salaries are paid on Monday for the previous five-day workweek (Monday through Friday).  The salaries are earned equally each day throughout the week.  Gross salary expense paid on Monday, April 4, 2005 was $4,750.  The amount in Salary Expense before the end-of-year accrual was $242,250.  Ignore payroll taxes and withholding.  Road Runner uses reversing entries.

For questions 26 through 29, write the identifying letter of the best response on your answer sheet.

26. The correct accrual on March 31, 2005 is:

   Salary
      Salary



Amount
        Payable        Expense


A.    $3,800

           debit


credit


B.    $4,750


    credit


debit


C.    $4,750


    debit


credit


D.    $3,800


    credit


debit


E.    $   950


    credit
   

debit

27. On March 31, 2005, the amount of Salary Expense closed to Income Summary is:


A. $950      B. $3,800      C. $4,750      D. $243,200      E. $246,050      F. $247,000

 *28. The balances in the following accounts on April 1, 2005 after reversing entries are:



  Salary Expense
        Salary Payable

A.
     $3,800 credit


        zero


B.

zero



$3,800 credit


C.      $4,750 debit


$950 credit


D.      $4,750 credit

     

  zero


E.
     $3,800 debit

      
  
  zero

29. After the salaries are paid on April 4, 2005 and the entries are journalized and 


posted, what will be the account balance of Salary Expense?


A.  zero       B. $950       C. $3,800       D. $4,750       E. $247,000

Group 9

	ASSET
	ORIGINAL COST
	ACCUMULATED DEPRECIATION

 THROUGH DEC 31, 2003
	ADDITIONAL DEPRECIATION IN 2004 TO DATE OF SALE

	 #1
	15,675
	5,470
	912

	 #2
	8,210
	4,026
	895


For questions 30 and 31, write the correct amount on your answer sheet.  Indicate sales resulting in a loss by brackets or parentheses.

30. If asset #1 is sold for $10,000, what is the amount of gain or loss?

31. If asset #2 is sold for $2,500, what is the amount of gain or loss?

Group 10

The incomplete financial statements for Mighty Mouse Co. appear below.  Compute the missing amounts and answer questions 32 through 36 by writing the correct amount on your answer sheet.    

Additional information needed:

· Accounts Receivable on 1-1-04 was $25,000 and on 12-31-04 had increased 

       by 60%

· Stockholders’ equity on 12-31-03 was $125,000

· Stockholders’ equity on 12-31-04 was 25% of total assets on the same date

· Current ratio 1.7 to 1

· Quick ratio 1.15 to 1

·  Gross profit percentage 32%

· Return on sales 8%

· Return on common stockholders’ equity 22%

Mighty Mouse Co.

Balance Sheet

December 31, 2004

Cash in Bank
  __________
Current Liabilities
  _________

Accounts Receivable
  __________
Long-Term Liabilities
       460,000

Merchandise Inventory
  __________
Stockholders’ Equity
  _________

Prepaid Insurance
           17,000

Property, Plant & Equip.
  __________

                                                                        
Total Liabilities and

Total Assets
  $_________     Stockholders’ Equity
  $________
Mighty Mouse Co.

Income Statement

For the Year Ended December 31, 2004

	Net Sales…………………………
	

	Cost of Merchandise Sold…….
	

	Gross Profit on Sales………….
	

	Total Operating Expenses……
	

	Net Income………………………
	         35,750


**32. What is the amount of Cash in Bank?

**33. What is the amount of Merchandise Inventory?

 *34. What is the amount of Current Liabilities?

35. What is the amount of Cost of Merchandise Sold?

 *36. What is the amount of working capital?

Group 11

The following balances appear in the general ledger accounts of a corporation on December 31, 2004 after closing entries were posted at the end of the fiscal period.

	6% Preferred Stock ($100 par)
	$235,000

	Common Stock ($7 par)
	44,100

	Paid-in Capital in Excess of Par—Common
	13,400

	Retained Earnings
	823,909

	Dividends—Preferred
	       -0-    

	Dividends—Common
	       -0- 


The corporation is authorized to issue 20,000 shares of preferred stock and 50,000 shares of common stock.

The following are all the transactions that occurred in 2004 that affected the stockholders’ equity accounts.

	Jan 5
	The board of directors declared the annual cash dividend on the preferred stock issued to all stockholders of record as of January 15, 2004 payable on February 15, 2004.

	Feb 15   
	Paid the preferred stock cash dividend.

	May 7   
	The board of directors declared the annual cash dividend of $3.50 per share on the common stock to all stockholders of record as of May 15, 2004, payable on June 15, 2004.

	June 15  
	Paid the common stock cash dividend.

	Aug 1
	Issued 750 shares of 6% preferred stock at par.

	Sept 1    
	Issued 1300 shares of common stock at par.

	Nov 1     
	Issued 800 shares of common stock for $8.00 per share.

	Dec 31  
	Closed the net income for the year of $162,780

	Dec 31  
	Closed the two dividend accounts.


For questions 37 and 38, write on your answer sheet the correct number of shares of stock issued as of January 1, 2004.

37. 6% Preferred Stock

*38. Common Stock

For questions 39 through 43, write on your answer sheet the correct amount of the beginning balance as of January 1, 2004 for each of the following accounts:

39.  6% Preferred Stock

  *40. Common Stock

41. Paid-in Capital in Excess of Par—Common

**42. Retained Earnings

43. Dividends--Common

Group 12

Below are the normal account balances of American Tool, Inc. at the end of the fiscal year from the adjusted trial balance columns of the work sheet.  It is company policy to use the standard acceptable order of closing entries.

	A
	Cash in Bank
	3,740
	
	M
	Sales Ret & Allow
	2,440

	B
	Merchandise Inventory
	14,275
	
	N
	Purchases 
	65,935

	C
	Prepaid Insurance
	2,460
	
	O
	Purchases Discounts
	2,780

	D
	Equipment
	31,255
	
	P
	Purchases Ret & Allow
	1,840

	E
	Accum. Depr.—Eq.
	8,130
	
	Q
	Rent Expense
	15,000

	F
	Accounts Payable
	5,110
	
	R
	Insurance Expense
	1,955

	G
	Capital Stock
	10,000
	
	S
	Utilities Expense
	6,235

	H
	Retained Earnings
	16,490
	
	T
	Interest Income
	3,740

	I
	Dividends
	5,000
	
	U
	Gain on Plant Assets
	1,490

	J
	Income Summary
	1,315 cr
	
	V
	Interest Expense
	1,290

	K
	Sales
	106,400
	
	W
	Loss on Plant Assets
	750

	L
	Sales Discounts
	3,960
	
	X
	Federal Income Tax Expense
	3,000


For questions 44 through 54, use the identifying letters to indicate the accounts debited and credited in the following closing entries.  Also write the correct amounts as required on your answer sheet.  If an answer requires multiple parts, any order in which you write the parts is acceptable.  However, all parts of your response must be correct for your answer to be correct.  

44-46. The first closing entry includes a debit to #44 and a credit to #45 for $_ #46.

47.      The second closing entry includes a debit to Income Summary and a credit to

 various accounts for a total of  $_ #47_.

48-50. The third closing entry includes a debit to #48 and a credit to #49 for $_ #50_.

51-53. The fourth closing entry includes a debit to #51 and a credit to #52 for $_ #53_.

* 54. What is the balance of Retained Earnings on the post-closing trial balance?

Group 13

For questions 55 through 62, on your answer sheet write True if the statement is true; write False if it is false.

55. When a change fund is short, it is a loss to the business; when it is over, it is 

revenue.

56. The hourly wage multiplied by the number of hours worked results in the net 

earnings for the pay period.

57. Overtime is paid to eligible employees after 50 hours of work in a weekly pay period.

58. If the Income Summary account is debited in the Adjustments section of a 

worksheet, it means that the beginning inventory was greater than the ending 

inventory.

Group 13 continued

59. In the Adjustments section of a worksheet, Prepaid Insurance will normally be 


debited.

60. On a worksheet the Income Statement debit column subtotal (before net income or


net loss was calculated) was larger than the Income Statement credit column, which


means the business has suffered a net loss.

61. The General Debit column in a purchases journal is used to record purchases of 


merchandise on account.

62. A business’s most liquid asset is cash.

Group 14

For questions 63 through 68, write the identifying letter of the best response on your answer sheet.

63. Incorporation fees paid to the state, attorneys’ fees for legal services, payments to 

promoters to sell stock, the cost of printing stock certificates, and other costs to 

bring a corporation into existence are called

A. incorporating expenses

C. organization costs

B. proxy costs




D. paid-in capital

64. Where is the best place to find the par value of stock of a Texas corporation?


A. on the state of Texas’ website

C. in the Dividends account


B. on the stock certificate



D. on the PGA tour

65. If a corporation issues only one class of capital stock, the stock is called


A. common stock

C. paid-in capital in excess of common


B. preferred stock

D. authorized par stock

66. The three dates that are important in the dividend process are:


A. accrual, deferral, issuance


C. March 5, September 10, November 6


B. authorized, issuance, retainage

D. declaration, record, payment

67. Yogi Bear owns a forest and rents out caves to other bears.  Rent is due on the first 

of each month for that month’s rent, and caves rent for $200 per month.  Boo Boo 

decided to take a very long nap, so on December 1, 2004 he paid Yogi $600.  What is the amount that Yogi should report on December 31, 2004 financial statements as unearned revenue?

A. zero       B. $200       C. $400       D. $600

68. An overstatement of ending inventory in one period results in


A. no effect on net income of the next period


B. an overstatement of net income of the next period


C. an understatement of net income of the next period


D. an overstatement of the ending inventory of the next period

Group 15

Refer to the data in Table 1 on page 11.  Write the identifying letter of the best response on your answer sheet for questions 69 through 80.

69.  Net Sales is equal to


A. $880,425       B. $924,615       C. $930,825       D. $950,560       E. $969,095

70.  Operating Revenue is equal to


A. $54,410       B. $352,170       C. $880,425       D. $892,750       E. $924,905

71.  Cost of Delivered Merchandise is equal to


A. $474,420       B. $500,365       C. $534,465       D. $560,410       E. $599,735

72.  Net Purchases is equal to


A. $474,420       B. $500,365       C. $526,310       D. $534,465       E. $586,355

73.  Cost of Merchandise Sold is equal to


A. $468,210       B. $480,630       C. $528,255       D. $540,675       E. $599,735

74.  Total Operating Expenses is equal to


A. $54,410       B. $71,295       C. $297,760       D. $314,645       E. $858,170

 *75.  Component percentages indicate that during the current fiscal year, Lexicon 


 spent _?_ out of each _?_ of net sales for the merchandise sold.


A. six cents; one dollar



D. sixty cents; one hundred dollars


B. forty cents; one dollar



E. sixty dollars; one thousand dollars


C. sixty cents; one dollar

**76.  Income from Operations is equal to


A. $49,850       B. $54,410       C. $66,735       D. $352,170       E. $936,940

77. Combining Total Other Revenue and Total Other Expenses results in a net


A. addition of $12,325


D. addition of $4,560


B. deduction of $16,885


E. deduction of $4,560


C. addition of $1,650

78. Corporate Federal Income Tax Expense of $7,478 was calculated based on Net


Income Before Federal Income Tax of


A. $42,372       B. $49,850       C. $54,410       D. $57,328       E. $58,970

79. Lexicon’s component percentage for Cost of Merchandise Sold is considered


A. acceptable because 60% actual is more than 30% acceptable per the chart


B. unacceptable because actual is less than 70% acceptable per the chart


C. acceptable because 60% actual is not more than 70% acceptable per the chart


D. unacceptable because 60% actual is more than 30% acceptable per the chart

Group 15 continued:

 *80. Officers of the corporation would like to make changes for the future that could


improve component percentage performance.  With this in mind, which of the 

      following is true and should be pursued?


A. The purchasing department should find suppliers offering lower prices for


     comparable merchandise.


B. Officers should lobby their congressmen/women to lower the corporate tax rates.


C. General & Administrative and Selling Expenses should be analyzed closely to 


     find areas where spending could be reduced, and use expense budgets as a

            part of new procedures to pre-approve spending.


D. Managers should find alternate financing on loans so that Other Expenses


     would be within acceptable component percentage parameters.

This is the end of the exam.  Please hold your answer sheet and exam until the contest director calls for them.  Thank you!

Table 1

(for questions 69 through 80)

The new accountant for Lexicon, Inc. used proper accounting procedures when journalizing and posting to arrive at the following correct and normal account balances and prepared the following income statement.  However, the officers of the corporation requested a classified income statement format instead.  Therefore, the accountant needs to make the necessary changes in the format.

	    Lexicon, Inc.

	Income Statement

	For the Year Ended June 30, 2004

	Increases:
	
	

	Sales
	924,615
	

	Gain on Plant Assets
	8,650
	

	Interest Income
	3,675
	

	Purchases Discounts
	10,655
	

	Purchases Returns & Allowances
	15,290
	

	Increase in Merchandise Inventory
	6,210
	

	    Total Increases to Income
	
	969,095

	Decreases:
	
	

	Sales Discounts
	27,405
	

	Sales Returns & Allowances
	16,785
	

	Purchases
	500,365
	

	Transportation In
	60,045
	

	Selling Expenses
	103,150
	

	General & Administrative Expenses
	194,610
	

	Loss on Plant Assets
	5,210
	

	Interest Expense
	11,675
	

	Corporate Federal Income Tax Expense
	7,478
	

	   Total Decreases from Income
	
	926,723

	Net Income
	
	42,372



Other Information:



Merchandise Inventory July 1, 2003--$65,270



Merchandise Inventory June 30, 2004--$71,480


Lexicon, Inc.’s income statement acceptable component percentages:

	Income Statement Items
	Acceptable Component Percentages

	Net Sales
	100%

	Cost of Merchandise Sold
	not more than 70%

	Gross Profit on Operations
	not less than 30%

	Total Operating Expenses
	not more than 20%

	Income from Operations
	Not less than 10%

	Net deduction
	Not more than 1%


